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Applications of Second Order Equations-RLC Circuit: Problem 4

(1 point)

A series circuit is constructed with resistance 120 {1, capacitance % % 10~* F, and inductance + H
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What is the differential equation for the charge in this circuit? (Use & as the dependent variable.)

"+ 1200+ 300000 =0
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What amount of resistance would cause the system to be critically damped?

)




—

0 What s the differentiz
dependent variable,) ‘

VN

\ . i iy
cr'rzau'i wotth Resistance R- 120
i N
L

p - <oy al
Copaci%am:e, C =

lues °—
—tHHn =g v <
5 2G4 120@ +500008=0

The Solution is 1/5 Q”+120Q°+50000Q = 0
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The Solution i1s 200.
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